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Answer five questions, taking one from each unit.

UNITH
1. (& Whatdoyouunderstand by thetermartificia intelligence? What are
theadvantagesthat Al have over naturd intelligence? 2+5=7
(b) Listthefour mainapproachestoAl. Explainany oneindetail.
2+5=7
2. (d) What areagents? Giveexamples. 1+1=2
(b) Explainthegtructureof intelligent agents. 7
(c) Describetheapplicationof Al inexpert systems. 5
UNITHI
3. (d) What doyou understand by production system?Explainthe
requirementsof agood control strategy. 2+4=6
(b) What are heuristic search techniques? Explain any one search
srategy with example. 2+6=8
4. (a) Anadysethe'missionariesand cannibas problemwith respect tothe
seven problem characterigtics. 7
(b) DefinegameplayinginAl. What arethe advantagesand
disadvantagesof gameplayinginAl? 1+6=7
UNITHII
5. (a) Whatisknowledgerepresentation?|llustratethe knowledgecyclein
Al withadiagram. 2+2=4
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(b) Consder thefollowing sentences: 10
(i) Johnlikesal kindsof food.
(i) Applesarefood.
(iii) Chickenisfood.
(iv) Anythinganyoneeatsandisn'tkilled by itisfood.
(v) Bill eatspeanutsandisdtill dive.
(vi) Sueestseverything Bill egts.
Proveby resolution that John likes peanuts.

. (8 Whatisfirst order predicatelogic (FOPL)?Represent thefollowing

factsin FOPL: 1+4=5
(i) Themembersof theEIm St. Bridge Club are Joe, Sdlly, Bill and
Ellen.

(i) Joeismarriedto Saly.
(iii) BillisEllen’sbrother.
(iv) Thespouseof every married personintheclubisalsointhe

club.
(b) What issemantic network?What are the advantages of semantic
network? 1+3=4
(c) Comparelogic notationwithlogic programming. 5
UNITHV
. (@ What isuncertainty?What arethe main sourcesof uncertainty?
2+2=4
(b) What arethevarioustypesof nodes supported by TMS? 4
(c) Explaindefault reasoningwithexample. 6
. (& What doyou understand by non-monotonic reasoning and
probabilistic reasoning? 2+2=4
(b) Whatisconditiona probability? Explain Bayesian probabilistic
inference. 2+8=10
UNIT-V
. (@ Why isnatura language process ng needed? 2
(b) Differentiate between syntactic and semanticanayss. 6



(¢) What iscontext-freegrammar (CFG)? Explain the components of
CFG 1+5=6

10. (8 Whatisnatural language understanding (NLU) and natural language
generation (NLG)? 4
(b) What do you understand by parsing and parser? Explain top-down
and bottom-up parsing. 2+8=10




